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And this master maintains 7937 is not similar to 327

OVERVIEW

XMW ruled that if a M2 says to a %W, ‘bring this money to my m%»’°, the M? can
retract (and have the % return the money to him) since the m? is responsible for
the loss of the money'. The X3 initially said the reason why %W maintains that
the M“ can retract is because PR maintains °312 WX? 7717. Our NN discusses
how the & m3 gives a reason different than the reason X mw offered.
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And at this point it is assumed that the reason which »x»w gave (for his ruling
that Tm7 9> X2 oK), which is, ‘since he carries the responsibility for its loss,

therefore he can retract’; that reason is not the main reason why he may retract, but
rather the main reason is because °212 X2 T217.

mMooIn adds that even though this is awkward, nevertheless we find this elsewhere as well:
—*9man 123 192 NPITNT NINNA (8,13 97105 INIYN NIN) INND)

And we find something similar regarding the case of one who buys wine from

the 2°n1> -
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Where initially the X712 wanted to say that the reason of >''1 is because he does

not maintain the ruling of '779393' -
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UIf the m*>w would lose the money, the m? would still owe the Mm% the entire amount.
* The case (in that Xn3) is where someone bought wine from a >n> (who presumably did not separate wym 72170
from it), and the 9X7W* cannot separate the n"n now (before naw). According to n"1 he may proclaim that the
required percentage of the wine in this barrel is n"n (thereby removing the 72v M0°X from the wine) and drink
some of the wine on Naw (making sure that there is enough wine left over in the barrel for the n"17n). After naw he
will separate the n"17n in the barrel from the rest of the wine
350y ™ 777 ' and W' disagree and maintain that it is forbidden to drink this wine since the »"7n has not been
separated (and removed from the rest of the wine in the barrel).
* The concept of '7772' (verified) is that even though currently we are not sure of the status (we do not know which
part of the wine is 1211 and which part is #"17n), nevertheless later when we will actually separate the »"1n from the
rest of the wine, we will assume that retroactively the wine which was drunk was P71 and the wine which was
separated later was n"17n all along. If we assume 77°72 w° then [presumably] it will be permitted to drink this wine
for (even now on naw) we assume that the »"17n and wine are separated; however if one maintains 777°72 X then the
1211 and »"10 are all mixed together in the wine and it is forbidden to drink it.
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Even though it states in that Xn>72, they (¥"™1 "9 .77 ") said to »''9, ‘do you
not admit that perhaps the barrel will burst, etc.”
man nano

And there are many such instances, where the X3 offers an explanation which differs
from the explicit explanation given by the X71%/Xin.

SUMMARY
The X773 oftentimes offers an explanation for a ruling which may differ from the
explanation given by the author of the ruling.

THINKING IT OVER

There is obviously a difficulty in the X3 giving a reason different from the one
presented. How is this difficulty alleviated by bringing similar examples where this
difficulty exists? It is seemingly merely compounding the difficulty. How are we to
understand this mpoIn?!’

> "1 said to »"7 (even if we maintain 7972 &) one may not drink this wine, for perhaps the barrel will burst on naw
(before we separated »"17n) and all the wine will spill out, and we will be drinking wine from which no »n"17n were
separated at all. It is evident that the reason of *"2 was because of ¥p2° ynw and nevertheless the X3 initially
assumed that the reason of >"1 was because he maintains 77°72 7°X (not as he explicitly said).
% See “Thinking it over’.
" See 1"nx # 249-253. See (also) 7717 °27 7"7 2,01 R 'O,
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